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CHEMICAL EQUILIBRIUM

The equilibrium constant for thereaction No+O>—=2NO isK; and for thereaction

2NO+0O; == 2NO;is K. Theequilibrium constant K for thereaction

NO, —— 1/2N»+Oj at sametemperatureis [AIPMT2011]
VKiK; 2) 1/2K1 K, 3) V4 K1 K, Al 1/ Ky Ky 1¥2

Ans4

Thevalue of AH for thereaction Xy(g) +4Y2(g) = 2XY 4(g) islessthan zero,
Formatioon of isfavoured by [ AIPMT2011 ]

1)high pressure and low temperature
2) high pressure and high temperature
3) low pressure and low temperature
4) low pressure and high temperature
Ans 1

For thereaction AB(g) —— A(g) +B(g), AB is 33% dissociated at atotal pressure of P.

Therefore, Pisrelated toKpas [AMU2010]
1) P=Kp 2)) P=3Kp 3)) P=4Kp 4)) P=8Kp
Ans4

At 3000K ,the equilibrium pressures of CO,, CO and CO, are0.6,0.4 and 0.2 atm

respectively. K for thereaction 2CO; (g) == 2CO(g)+ O(g) is [BHU2010]

1) 0.088 2)) 0.0533 3)) 0.133 4)) 0.177

Ans:1

I'n which of thefollowing K¢ and Kp are not equal ? [PMT2010]

1) 2NO(g) == N2 (9)+ O2(9) 2) S0z (9) +NO;(9) &—=S0s(9) +NO (9)
3) H2(9) +12(9) == 2HI(g) 4) 2C(s) + O2(9) ==2CO(9)

Ans, 4

K; and Kjaretheequilibrium constants of the two reactions ,given below
i. ¥2No + 3/2Hp ——= NHg
ii.No+3Hy ——=2NHg3 .ThereforeK and K* arerelated as [PMT2009]

1) Ky =K,> 2) Ki =K,?  3) K; =2K, 4)K; =K,

Ans; 2
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A(g)+SB(g) Q4C(g) Initial concentration of A isequal to that of B. The equilibrium

concentration of A and C areequal. K isequal to, [Kerala -2005(E)]
1) 0.08 2)8 3) 1/8 4) 80
Ans;2

I'n a 500 ml flask, the degree of dissociation of PClg at equilibrium is40% and theinitial

amount is5 moles. Thevalue of equilibrium constant in molelit-1 for the decomposition
of PClgis (E-2008)
1) 3.33 2) 2.66 3) 5.32 4) 4.66

Ans;2

What isthe effect of aten-fold increasein pressureon Kp in the reaction at equilibirum

Na(g) + 8H2(g) == 2NH3(q)? (M-2010)
1) A ten-fold increase  2) A ten-fold decrease 3) No change 4) Equal to K¢

AnNs;3

In thereaction 2803(g) &= 2S0(g)* O2(g) » SO3(g)- is50% dissociated at 270C when
the equilibrium pressureis 0.5 atm. Hence partial pressure of SO3(g) at Equilibrium is

(M -2007)
1) 0.5am 2) 0.3am 3) 0.2am 4) 0.1 atm
AnNs;3
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